POWER

SUPPLY (
PAGE 6

+5V

+3.3V

ANALOG INPUT

—3

PAGE 2 ADS4122 DATA
ADS4142 ‘
ADS4125 cLK LEVE'ID_AC?EHSI FTER
ADS4145

ussuE  ——> M
N

~T—
EXT CLK

CMOS OSCILLATOR
PAGE 2

DNI: Do Not Install

% TEXAS INSTRUMENTS

HSP020

DATA CONNECTOR
> PAGE 5
CLK >
[Title
Size
Engineer: N GILL 06/2016 B
PCB: JVSMITH 06/2016 Date:

Document Number

ADS412X CAPE TIDA-00942

Rev

El

2

Wednesday, October 26, 2016
[

[Sheet 1
1




VIN- _R16 200
4.7V +4.7V 1%
b1 +4.7V
BAVOOW 1
~| U6 R17 221
n 2 OPA656NB
INP 6 OUT+l RS 392 NPl RS5 348 C99 || 12pF
o AINP R10 150 AVP R9 49.9 AN P| 3 ’ VNV I ¢ I
END e l c1 b
1%
€11 < azv e2pF
5pF 7 INM . R6 348 C2 12pF
= P LT p | p==E
DI R7 221
JP5 R11
500hm/1Mohm 1% 392 R2eo hos
| c62 -4.7v +4.7V = ;
I~ 10pF R1 27.4 DBIN+ 25 _DBIN P . R53 5.1
DNI 4TV us 390nH >y INM - SH3
c57 C59 C58 C60 e THS4541 ™
= AuF 6.8uF AuF 6.8uF 2 VSt FB+—4
= 7| Var C56  PORI14
= = I e L 680pF >442
.6pF 4 2 1 +
|C3 H 5.6p IN IN+ OUT+ 0 B
L3
- - . - DBIN N )
INA 3 ouT. |1LB R3 27.4 DBIN 4 4 R54 5.1 5> IN_P SH3
12y 55
9 13 c
SH3 vem <K _T_ Vocm  VS- [z
@ vs. 2
—u I PWRPAD VS-
J_c4 lcs lce _T_c7 _T_C7l
10uF T.luF T'lUF T'lu': T'lu': [
10%, 10V, X7R ] 10%, 50V, X7R
é
+3.3V +1.8VD -
+3.3V I
Iglfup co
. +1.8VD ——|:|_u|:
R24 = +3.3V 14 =
1 -
10k vi OE vce 2 .
CLK P .
) clockl o™ (T3 21, v | 4_CLK R2s 49.9
m|
JP7 2 2 4 3
CLK |; GND VDD - GND P8
J—_ J—_ 20.000MHz — SN74AUC1G125 CLK+
= = J3 CP 1 cs
CLKIN 2 g
WA CLOCKIN R18 0 CN 3 : 11 S>CLK+ SH3
END 1uF JP9
SHUNT 1-2 CLK+
= O |
- (0]
R21
49.9
‘i‘ | | A
" HSP020
Size Document Number Rev
B ADS412X CAPE TIDA-00942 El
Date: Wednesday, October 26, 2016 [Sheet 2 of 6
5 4 3 2 | 1




D11 SH5

D10 SH5
D9 SH5
D8 SH5
D7 SH5
+1.8VA Bg 2:2
D4 SH5
c13 c14 ci15 c17 c18 Bg gﬂg
.O1uF .01uF .01uF .01uF .01uF .0O1uF D1 SH5
+1.8VD
+1,8VD
S e AN bl S o ] C20
.01uF +1.8VD
HOOOON~NOUITMNMANAHO
nalalalajalalialajalala)
+1.8VA [aYal
GND C102
O1uF
+1.8VD
1 DRGND U13 = +1§YD
5| DRGND DRVDD [ +1.8VD
DRVDD NC4 R88 SN74AUC1G125
JDF;% OVR/SDOUT 31 VR SDOUT NG3 10k ; —— | spiact u12 ]
OFFSET R27 221 &7NCS u1 NC2 jvee OB S VDD 17
SH5 CLKOUT (< CLKOUT NC1 %— RESET MR
2 DFS 6 ADS4122 RESET 4 2
= DFS RESET |59 SCLK . Y A RESET 9
51 OE SCLK [5g 3 GND __|_
SHUNT 1-2 o | A0 SDAIA 27 SEN GND TPS312518 —L
SH2 CLK+ 10 26 =
e T3 CLKP AVDD 52 =
0 2'(—5'?\"\3 A AGND P17 TP16 TP15 +1.8VD
c10 m SDATA SCLK SEN
& BLU BLU BLU
AuF [a)] [aNayalal [alTiTa)
= 352238358888 ' ' 100 = c103
- = S22z I +1.8VD 1uF 1uF
olslelelslzloleldalds i?
+3.3V
+1.8VA = R87 +1.8VD +3.3V
T Tok +3.3V u11
u10 16
JP1 16 1 vee 7
SH2 IN_P §< STANDBY TP3 75| VCCA DIRL [ 1A 1B1 I§§ USB-SEN SH4
SH2 IN_M oL BLU 7] VCCB DIR2 3 1B2 BBB-SEN SH5
ol2 Oovr T3] Bl Al [ 5
SH2 VCM )>———¢ SDATA 5 B2 A2 £ 2A  2B1 3—<KUSB-SCLK SH4
B3 A3 2B2 BBB-SCLK SH5
OVRISDOUT 11 6
A4 c21 10 B4 A4 7 11
0-1uF 9| GND DIR3 g 3A 3Bl o USB-SDATA SH4
— OEb DIR4 —_| 3B2 BBB-SDATA SH5
- +3.3V = SN74AVCAT774 = . A 4B1 g USB-SDOUT SH4
4B2 BBB-SDOUT SH5
SPI-SRC
R86 SHUNT 1-2 > 8
10k OE GND 1777
PAD
SPI-ACT 74CB3Q3257 —
<pL. AJCP'?'IVE +1.8VD +3.3V +3.3V
o
o c101
cs4 ] cs53 cs51 c22 O1uF
L .O1uF ]

Ri# TEXAS INSTRUMENTS

[Title

Size

B

HSP020
" ADS412X CAPE TIDA-00942

Rev

El

Date:

Wednesday, October 26, 2016 [Sheet 3 of 6
| 1




J4
usB

FB1

VA ] &

VBUS

l c23

7/
120 OHM @ 100MHz

GND1 D-

GND2 D+
GND3 ID

1
2
3
5
GND4 GND 1

OCXJ\I|@

el T s Iy o dg o s e o o ]

C24 4 C25
.01uF 0.1uF 4.7uF
N
) ) U2
20 VCC DO
16 USBDM D1
15 USBDP D2
dco7 dcoe 4
Imp ImF vceio D3
— — 3 ne1 D4
) ) 19
RESET D5
%%—D NC2 D6
%76' OSClI D7
%%— OSCO RXF
17 3V30UT TXE
25
= AGND RD
GND
o 33+ GND WR
0.1uF 21
56 GND
TEST PWREN
FT245RL
3.3V
q p—0—
R15 R20 R22 R23 R26 +3.3V

5.6k { 5.6k 4.75k { 4.75k £ 4.75k

sH5 12c2_scLl

SH5 12c2_SDALK

Uis
SCL VCC 8 TP18

SDA
Swi 7
WP
1 —1 4 SW1 A0 1
2 ::I':':' 3 SWI AL 21 AO
SW1 A2 3 Al

SWITCH, ULTRA MINI

A2 VSS 4—_|_
CAT24C256W —=

<USB-SDOUT  SH3
<USB-SCLK SH3
CUSB-SDATA SH3

CUSB-SEN SH3

HDR, THVT, 6POS, .100, FEMALE

+
w
w
<

Cc61
1uF

Ri# TEXAS INSTRUMENTS

[Title
HSP020
Size Document Number Rev
B ADS412X CAPE TIDA-00942 El
Date:

Wednesday, October 26, 2016 [Sheet 4 of 6
| 1




+1__8_VD +3.3V
U3 RN1
L{vces veea |2 S AN EeeBl
15 31 7 10 BBB-D1
VCCB  VCCA 6 11 BBB-D2
HINAAAER BBB.D3
AAN -
2 13 BBB-D4
SH3 DO e 1A1 |52 5 s Be.be
SH3 D1 = 1B2 1A2 7 NAAAEE BBB-D7
SH3 D2 = 183 1A3 3 VA
SH3 D3 1B4 1A4 7
SH3 D4 g 1B5 1A5 ié
SH3 D5 71 186 1A6 35
SH3 D6 51 187 1A7 55
SH3 D7 1B8 1A8
RN2
13 36
SH3 D8 T 281 2A1 (32 8 9 BBB-DS
SH3 D9 2B2 2A2
16 33 7 10 BBB-D9
SH3 D10 > 283 2A3 35 6 11 BBB-D10
SH3 D11 2B4 2A4 FHMAAANEY BBB-D1L
19 30
551 285 2A5 [5q MAAE
5] 2B6 2A6 55 A
2B7 A7 |5
SH3 CLKOUT > 2 1 ogs 2a8 |22 L -0 BBB-CLROUT
22
a8 1
10E 1D
DATA_OE ¥ 10E
— o249 20E  20R 22
4 4
o GND8 GND1 (5
=i GND7 GND2 (e
55| GND6  GND3 57
GND5 GND4
_ | SN74AVC16T245DGGR _ | _
+3.3V +1.8VD
c29 ] c3o Jca |c3

.01uF .OluF .01luF .01luF

Mates with BeagleBone P8

TP8
GND
BLK
1 2 =
L 3] 4 _1_
= 5] (6 =
7 | 8
9 | | 10
11 12 PP5
13 ] 14 SPARE1 I;ISPAREl PP4
15 16 SPARE2 ISPARE2
17 ] 18
19| 20
21 | [22
23] 24
25 26
BBB-D8 27 28 BBB-D10
BBBD9 29 30 BBB-DIL
3L | 32
33 [ 34
35 36
37| 38
BBB-D6 39 40 BBB-D7
BBB-D4 41 42___BBB-D5
BBB-D2 43 44 BBB-D3
BBBDO 45 46 BBBD1

HDR, THVT, 46POS, .100, FEMALE

Mates with BeagleBone P9
J6

+3.3V
BB-P9
+3.3V +3.3V
sys sy VBRSV é Y i VBD SV gyg sy
= 00 | R41
= 00 | 4.7k
o0
PP1 9| @@ |10
GPIO1 11| 12 DATA OE
13 (14
15 16
TP12 pP2  PP3 17 18
ExTTRIG T Ty SH4 12C2_SCL ) 19 | 20 < 12C2_SDA SH4
BLU — 21 | [22 —
23 24 BBB-CLKOUT
25 26
g; gg <$ BBB-SEN SH3
SH3 BBB-SDOUT % 5 5 BBB-SDATA SH3
SH3 BBB-SCLK 3 54
35 ] 36
37| 38
39 | 40 PP6
41 42
P i1 EI BBB-SEN1
45 46

HDR, THVT, 46POS, .100, FEMALE

Ri# TEXAS INSTRUMENTS

e HSP020
Size Document Number Rev
B ADS412X CAPE TIDA-00942 El

Date: Wednesday, October 26, 2016 [Sheet 5 of 6
| 1




VDD

5V

SYS 5V

+5V

C36

N
SHUNT 1-2 47uF 10uF AuF T IuF
’[ TlOV
N
é
+5V FB5 +1.8VA
120 OHM @ 100MHz U4 L1 FB3 T
5V_IN 5 118V 1.8V_IN 1 3
* — 2| N SW I3 2. 2uH ¢ = - * *
l l 2 EN FB 5 l _Lc42 27uF l l
C40 C39 MODE GND [— Ra4 c41 TOuF o J c43 c44 C45 C46
TluF ‘|’.01uF RA2 THERMPAD 360k 22pF == 33uF 10uF 2.2uF 1uF
0 TPS62590 = ~
¢ 1A — +1,8VD
R46 FB4 T
R31 180k 1~ 3 . .
0 — l
DNI L o 2P ) cas ic49 C50
= = 33uF 10uF 1uF
- o~
RS °
TP10
+4.7V
+§1\1 U7 (f Rep *ATV TPY TP13  TP14
FB6 T GND GND GND
* * 8 IIN out o LTV o * {7 . BLK BLK BLK
_Lc75 c76 _Lc77 5 2 _Lc7s 1k @ 100MHz
10uF AuF 10uF EN FB R83 10uF L L L
1 I 6 4 34.8k = = =
NR/SS GND 9% —
= C80 B
OLUF 2ne TPAD P2
TPS7A4901 — BARE BOARD, ADS412X_CAPE
L = R84
= 12k
1%
MT1 MT2
B PANHEAD SCREW 4-40 x 3/8" 1 1
co1 % STANDOFF, FEMALE, 4-40 X 3/4" STANDOFF, FEMALE, 4-40 X 3/4"
i P11 PANHEAD SCREW 4-40 x 3/8 MT3 MT4
us 47V
Y TPS60403 10 ® uo (F Rep &IV % 1 1
FB7 —|_ .
' - . PANHEAD SCREW 4-40 x 3/8
+ 5 our 1 5V 8 'y out L _ N4TV _ —=L | X
5 2 © lcgo cas 5 5 cg7 1k @ 100MHz STANDOFF, FEMALE, 4-40 X 3/4" STANDOFF, FEMALE, 4-40 X 3/4"
O lluF Ilom: EN FB c88 R12 10uF
4 .01uF PANHEAD SCREW 4-40 x 3/8"
N — — ® I NRISS  GND Badk L *
- . ) c89 9 -
= ToF 2 ne TPAD
l TPS7A3001  ——
= - R13
215k

Ri# TEXAS INSTRUMENTS

[Title
HSP020
Size Document Number Rev
B ADS412X CAPE TIDA-00942 El
Date: of 6

Wednesday, October 26, 2016 [Sheet 6
| 1




IMPORTANT NOTICE FOR TI REFERENCE DESIGNS

Texas Instruments Incorporated (‘TI") reference designs are solely intended to assist designers (“Designer(s)”) who are developing systems
that incorporate Tl products. Tl has not conducted any testing other than that specifically described in the published documentation for a
particular reference design.

TI's provision of reference designs and any other technical, applications or design advice, quality characterization, reliability data or other
information or services does not expand or otherwise alter TI's applicable published warranties or warranty disclaimers for Tl products, and
no additional obligations or liabilities arise from TI providing such reference designs or other items.

Tl reserves the right to make corrections, enhancements, improvements and other changes to its reference designs and other items.

Designer understands and agrees that Designer remains responsible for using its independent analysis, evaluation and judgment in
designing Designer’s systems and products, and has full and exclusive responsibility to assure the safety of its products and compliance of
its products (and of all Tl products used in or for such Designer’s products) with all applicable regulations, laws and other applicable
requirements. Designer represents that, with respect to its applications, it has all the necessary expertise to create and implement
safeguards that (1) anticipate dangerous consequences of failures, (2) monitor failures and their consequences, and (3) lessen the
likelihood of failures that might cause harm and take appropriate actions. Designer agrees that prior to using or distributing any systems
that include TI products, Designer will thoroughly test such systems and the functionality of such TI products as used in such systems.
Designer may not use any TI products in life-critical medical equipment unless authorized officers of the parties have executed a special
contract specifically governing such use. Life-critical medical equipment is medical equipment where failure of such equipment would cause
serious bodily injury or death (e.g., life support, pacemakers, defibrillators, heart pumps, neurostimulators, and implantables). Such
equipment includes, without limitation, all medical devices identified by the U.S. Food and Drug Administration as Class Il devices and
equivalent classifications outside the U.S.

Designers are authorized to use, copy and modify any individual TI reference design only in connection with the development of end
products that include the TI product(s) identified in that reference design. HOWEVER, NO OTHER LICENSE, EXPRESS OR IMPLIED, BY
ESTOPPEL OR OTHERWISE TO ANY OTHER TI INTELLECTUAL PROPERTY RIGHT, AND NO LICENSE TO ANY TECHNOLOGY OR
INTELLECTUAL PROPERTY RIGHT OF Tl OR ANY THIRD PARTY IS GRANTED HEREIN, including but not limited to any patent right,
copyright, mask work right, or other intellectual property right relating to any combination, machine, or process in which Tl products or
services are used. Information published by Tl regarding third-party products or services does not constitute a license to use such products
or services, or a warranty or endorsement thereof. Use of the reference design or other items described above may require a license from a
third party under the patents or other intellectual property of the third party, or a license from TI under the patents or other intellectual
property of TI.

TI REFERENCE DESIGNS AND OTHER ITEMS DESCRIBED ABOVE ARE PROVIDED “AS IS” AND WITH ALL FAULTS. TI DISCLAIMS
ALL OTHER WARRANTIES OR REPRESENTATIONS, EXPRESS OR IMPLIED, REGARDING THE REFERENCE DESIGNS OR USE OF
THE REFERENCE DESIGNS, INCLUDING BUT NOT LIMITED TO ACCURACY OR COMPLETENESS, TITLE, ANY EPIDEMIC FAILURE
WARRANTY AND ANY IMPLIED WARRANTIES OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE, AND NON-
INFRINGEMENT OF ANY THIRD PARTY INTELLECTUAL PROPERTY RIGHTS.

TI SHALL NOT BE LIABLE FOR AND SHALL NOT DEFEND OR INDEMNIFY DESIGNERS AGAINST ANY CLAIM, INCLUDING BUT NOT
LIMITED TO ANY INFRINGEMENT CLAIM THAT RELATES TO OR IS BASED ON ANY COMBINATION OF PRODUCTS AS
DESCRIBED IN A TI REFERENCE DESIGN OR OTHERWISE. IN NO EVENT SHALL TI BE LIABLE FOR ANY ACTUAL, DIRECT,
SPECIAL, COLLATERAL, INDIRECT, PUNITIVE, INCIDENTAL, CONSEQUENTIAL OR EXEMPLARY DAMAGES IN CONNECTION WITH
OR ARISING OUT OF THE REFERENCE DESIGNS OR USE OF THE REFERENCE DESIGNS, AND REGARDLESS OF WHETHER TI
HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.

TI's standard terms of sale for semiconductor products (http://www.ti.com/sc/docs/stdterms.htm) apply to the sale of packaged integrated
circuit products. Additional terms may apply to the use or sale of other types of Tl products and services.

Designer will fully indemnify TI and its representatives against any damages, costs, losses, and/or liabilities arising out of Designer’s non-
compliance with the terms and provisions of this Notice.

Mailing Address: Texas Instruments, Post Office Box 655303, Dallas, Texas 75265
Copyright © 2016, Texas Instruments Incorporated


http://www.ti.com/sc/docs/stdterms.htm

